EXEHHNES

Bk 27564818 =R/ 28538318

(#HB) IRFHHRELGESR

CER 275FE)

EEI-ENEESHE (6 - M)
BERB LHEERTEA) AEEREB) #EBEA)-B)
SEINE 7,570,485 7,653,502 A 83017
— RS EINEE 7,570,485 7,653,502 A 83017
+ % U 1,800,776 2.490,853 A 690,077
MU AT 1,800,776 2,490,853 A 690,077
BREREHBSINE 55,283,608 51,848,876 3,434,732
AT fE B & IR 47,512,608 43,792,876 3,719,732
7% | ERFEE S TINEE 7,771,000 8,056,000 A 285,000
I Z D DU EE 1,664,073 7,306,516 A 5,642,443
Z D DU 1,664,073 7,306,516 A 5,642,443
H—E REHUINEET() 66,318,942 69,299,747 A 2,980,805
e ANGE 52,938,092 48,971,915 3,966,177
% B REN 600,000 600,000 0
A= Fp 2 31,260,848 27,460,701 3,800,147
BEE 8,620,394 7,622,607 997,787
EEHBEKLS 2,662,635 0 2,662,635
4 BB ER 3,152,389 7,035,790 A 3,883,401
EEEHE 6,641,826 6,252,817 389,009
EXE 1,086,930 22,042 1,064,888
HESREERE 1,033,905 22,042 1,011,863
. BISEWRE 53,025 0 53,025
& s |BEE 4,471,920 4,861,210 A 389,290
EAELE 167,345 90,417 76,928
BB R E 100,440 0 100,440
WREXEE 25,346 189,368 A 164,022
) TEMEE 12,000 17,000 A 5,000
EHHERE 313,331 242,894 70,437
R SR E 0 210,600 A 210,600
KEHEE 191,813 186,551 5,262
- EiEsE 54,706 0 54,706
18 BIEEME 264,000 227227 36,773
SEE 3,240 0 3,240
XHBERE 725,000 1,021,100 A 296,100
FHEH 198,506 236,312 A 37,806
| m RERH 424,315 290,850 133,465
BB 1,542,598 1,768,183 A 225585
HifE 162,280 137,108 25,172
bz RTINS 30,500 22,100 8,400
HNE 62,500 48,500 14,000
2 ERE 194,000 173,000 21,000
AL ER 2,065,000 1,272,660 792,340
BiEESER 2,065,000 1,272,660 792,340
RAR{E R E 899,671 846,204 53,467
2 A5 A 5 899,671 846,204 53,467
ZDhnEH 101,080 1,997,346 A 1,896,266
ZDHthDE F 101,080 1,997,346 A 1,896,266
Y—EXFEHERATQ) 61,562,693 57,971,377 3,591,316
H—E R EHEREEEG)=(1)-(2) 4,756,249 11,328,370 A 6,572,121
.U.
| | 4R |SZEFIRER LS U Es 44,502 44012 490
e ZEH| B A B UNE 44,502 44,012 490
M
g H—E REFINEE @D 44,502 44,012 490
5 | B |ZILFA 977 0 977
t XIFE 977 0 977
pi =
o F—EXZII B A G) 977 0 977
il Y —E REHH BB ZEEE(6)=(4)-(5) 43525 44012 A 487
REBBELET)=3)+(6) 4,799,774 11,372,382 A 6,572,608




EXEHHNES

Bk 27564818 =R/ 28538318

(118 IRE A R EHRES (FR2FE)
EEI-ENEESHE (B . A)
: LHEERTEA) AEEREB) #EBEA)-B)
9| IR |EEEEZIEEE 1,250,000 0 1,250,000
HEENRE 20528 1,250,000 0 1,250,000
Al FERXSBEBASINE 3,912,000 905,000 3,007,000
| FEXROBBRASIE 3,912,000 905,000 3,007,000
i 5 AIIRZEEH(8) 5,162,000 905,000 4,257,000
| E [ EARSBEEALER 0 13,331,000/ A 13,331,000
H—ERXNHERAEER 0 13,331,000/ A 13,331,000
D
B
&8 45511 & B EH0) 0 13,331,000 A 13,331,000
151l 1 Rk = £8(10)=(8)—(9) 5,162,000] A 12,426,000 17,588,000
25 | 811 2 27 B 4% il = 281 1)=(7)+(10) 9.961,774] A 1,053,618 11,015,392
BEAR ERBREUVEER02) 0 0 0
EANTRE IR EEE(I) 0 0 0
L E B R EZE(14)=(11)-(12)-(13) 9,961,774 A 1,053,618 11,015,392
ﬂg&.‘:
& RS 468 0L B 455 Ul 2 2B (15) 7,757,643 8,811,261 A 1,053,618
= LHR IR R BN IR E58(16)=(14)+(15) 17,719,417 7,757,643 9,961,774
‘ HEAEENERZEANT) 0 0 0
L) HE 2 HREREE(18) 0 0 0
15 ZDMOFE % I EREE(19) 0 0 0
B ZF D DIEIL £ IS EE(20) 0 0 0
= Z D DIEIL £ FELEE(20) 0 0 0
28
»
&8 RIRHEME B IR EE(21)=(16)+(17)+(18)+(19)-(20) 17,719,417 7,757,643 9,961,774
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(418 R A 2 S (FR2FE)
BE1-JLMBREE (6 - M)
3 LHEERTEA) AEEREB) #EBEA)-B)
& Qg 150,000 120,000 30,000
| ILERINEE 120,000 120,000 0
. FHEHN I 30,000 0 30,000
E %
2 H—E ZFEHIRNEE() 150,000 120,000 30,000
B |=zs 3,505,574 4,374,901 A 869,327
| & | RIEEXE 113,628 97,686 15,942
. HEFRERRE 106,900 47,776 59,124
12 BIEERE 119,896 168,456 A 48,560
o1 L¥RE 1,809,378 2,312,795 A 503417
B £%E8x%E 1,354,172 1,746,588 A 392,416
) g 1,600 1,600 0
2 Y—EXFEHERTQ 3,505,574 4,374,901 A 869,327
H—E R EHEREEEG)=(1)-(2) A 3355574 A 4254901 899,327
.U.
| | 4R
£
A %
5;-; H—FE R EINREET @A) 0 0 0
5| &
=
a> A
. H—E RiESE FEHE) 0 0 0
& H—E REH I SR EZE(6)=(4)-(5) 0 0 0
BREEBELT)=(3)+(6) A 3355574 A 4,254,901 899,327
| | —E AR S EgEA U 0 4,985,000 A 4,985,000
/‘H H—E XX EgA UL 0 4,985,000 A 4,985,000
|
iy
13 AN AR EH(8) 0 4,985,000 A 4,985,000
| &
)
A
i1l Y5118 AEH9) 0 0 0
4RI 18 B EE8(10)=(8)-(9) 0 4,985,000 A 4,985,000
5| a1 R B EER(11)=(7)+(10) A 3355574 730,099 A 4,085,673
EATERBRUEER02) 0 0 0
EATREREZE(13) 0 0 0
LR REIE R EZ(14)=(11)-(12)-(13) A 3355574 730,099 A 4,085,673
H il A 4 BN IR R SR 4R (15) 745,099 15,000 730,099
= LHR IR R BN IR E5E(16)=(14)+(15) A 2.610,475 745,099 A 3,355574
‘ HAEEEZENT) 0 0 0
L)) D) 0 0 0
15 ZDMDFELI L RNAZE9) 0 0 0
P F D DIEILEIEIEE(20) 0 0 0
¥ Z D DFEL £ FE 31 2E(20) 0 0 0
)
)
#B REAFEIEE BN R E%E(21)=(16)+(17)+(18)+(19)-(20) A 2,610,475 745,099 A 3355574




EXETEEREE
Bk 27564818 =R/ 28538318
(ER 21EE)

(#HB) IRFHHRELGER
BE1-SHIBEIEESHESE

(BfHL - M)

BERB LHEERTEA) AEEREB) #EBEA)-B)
ZEEUNE 2,800,000 2,526,999 273,001
| R HRETH ZEE R INEE 2,800,000 2,526,999 273,001
EEINE 49,600 53,600 A 4,000
| I PR 2 49,600 53,600 A 4,000
% [T DD YR EE 13,100 0 13,100
Z DD UREE 13,100 0 13,100
£ H—E R FEHINEET() 2,862,700 2,580,599 282,101
ANG+E 84,600 0 84,600
A id=F P 84,600 0 84,600
EXE 4,961,370 4,863,959 97,411
e FNiil S A& 148,647 87,804 60,843
4 HEFRERRE 340,781 474,057 A 133,276
£ BiEE 42336 43,200 A 864
) BIEEWRE 441,238 667,885 A 226,647
=& 43,200 35,700 7,500
XHBERE 2,286,680 1,981,840 304,840
= FHH 7,560 8,640 A 1,080
R 179,170 184,130 A 4,960
. BB 1,400 17,280 A 15,880
B m | =R 95,958 127,923 A 31,965
F =R RN S 8,400 92,500 A 84,100
o BEE 1,356,000 1,133,000 223,000
Bk 10,000 10,000 0
B & &R 2,448,000 2,332,000 116,000
£ BREEH 2,448,000 2,332,000 116,000
H—EREHERTQ 7,493,970 7,195,959 298,011
H—E R EHEEEEER)=(1)-(2) A 4,631,270 A 4,615,360 A 15,910
.'j_
| | 4R
"
ok
gj H—E R EFINNEET@A) 0 0 0
YK
%
b =2
o F—E AEBINEHETG) 0 0 0
H H—E REHIME R EZE(6)=(4)-(5) 0 0 0
IR E R EEE(7)=(3)+(6) A 4,631,270 A 4,615,360 A 15,910
5 | I [ —ERR S Bl A £ 0 5,531,000 A 5,531,000
a H—E XX EgA UL 0 5,531,000 A 5,531,000
|
Einy
i e ZIE L C) 0 5,531,000 A 5,531,000
| &
)
A
&8 4551 & B EH0) 0 0 0
43 Il 18 Rk = 2B (10)=(8)—(9) 0 5,531,000 A 5531,000
5| BT HR R BN A EE(11)=(7)+(10) A 4,631,270 915,640 A 5546,910
EARERBRUEER02) 0 0 0
EANTRE R EEE(I) 0 0 0
LR EEIE R EEE(14)=(11)-(12)-(13) A 4,631,270 915,640 A 5546,910
ﬂ Hil A AR S Eh iR iRl = 2B (15) 1,677,791 762,151 915,640
oy L HA R AR E Bl 3 A BE(16)=(14)+(15) A 2,953,479 1,677,791 A 4,631,270
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BER 274818 EEK
(ER 21EE)

(#HB) IRFHHRELGER
BE1-SHIBEIEESHESE

EARFHEAZE(7)

28%3A31H

HEFERE(A) BIEEREB)
0

(BfHL - M)
#iE(A)-(B)

A HYAREA(18)

FDMDIEIILIEREE(19)

Z Dt DFEL E 1531 E8(20)

FRDIEILEFETEE(20)

(=)=l (=)=}

0
0
0
0
0

=l [=l[=](=][=]

RERAR S E Bk = K8 (21)=(16)+(17)+(18)+(19)—(20)

A 2,953,479

1,677,791

A 4,631,270




(#HB)RFHHREAGER
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CER 275FE)

BE-THRAXESE (6 - M)
BERB LHEERTEA) AEEREB) #EBEA)-B)
ZEEUNE 3,355,890 3,891,125 A 535235
5 | | RETH 2SI 819,180 0 819,180
FE TR 2 U 2,536,710 3,891,125 A 1,354,415
= ljrEas 312,500 574,800 A 262,300
| | 25| FIARIRE 205,000 274,800 A 69,800
REEEEEERESINEG 107,500 300,000 A 192,500
H—E ZFEHIREE() 3,668,390 4,465,925 A 797,535
"
ANG+E 299,416 3,553,730 A 3,254,314
A= Fp 2 299.416 2,307,730 A 2,008,314
2 FEEHWERS 0 1,246,000/ A 1,246,000
ExE 1,224,443 871,167 353,276
WREXEE 161,176 171,200 A 10,024
= HESREERE 55,607 48,999 6,608
2| BEERE 28,808 11,370 17,438
FHH 28,352 1,100 27,252
% R 22,320 22,560 A 240
EERH 121,680 6,200 115,480
BEE 117,000 320,738 A 203,738
- HEE 689,500 289,000 400,500
= EKE 275,786 341,815 A 66,029
EFELEE 0 18,360 A 18,360
- REXBE 87,504 40,736 46,768
B m| snEEne 19.840 46,004 A 26,164
BIEERE 27,238 27,014 224
FHH 0 25,500 A 25,500
2 BEH 61,344 164,592 A 103,248
HEgE 4,860 18,809 A 13,949
AR EE 0 800 A 800
B BRAE 75,000 0 75.000
H—EREHERTQ 1,799,645 4,766,712 A 2,967,067
H—E R EHEREEER)=(1)-(2) 1,868,745 A 300,787 2,169,532
.U_
| | 4%
"
ok
gj H—E ZEFINNEET@) 0 0 0
YK
%
b =2
o F—EXZII B A G) 0 0 0
A Y—E REHH BB ZEEE(6)=(4)-(5) 0 0 0
BEEEELT)=(3)+(6) 1,868,745 A 300,787 2,169,532
5 | I [ —ERR S Bl A £ 0 382,000 A 382,000
a H—E XX EgA UL 0 382,000 A 382,000
|
Einy
i 4RI E1(8) 0 382,000 A 382,000
| &
)
A
il 45511 & B EH0) 0 0 0
4 A 18R = £8(10)=(8)—-(9) 0 382,000 A 382,000
5| 1L HR R BN A EEE(11)=(7)+(10) 1,868,745 81,213 1,787,532
EARERBRUEER02) 0 0 0
EANTRE IR EEE(I) 0 0 0
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(418 R A 2 S (TR 2ER)
BE-THRAXESE (6 - M)
LEERFEA) AFEEREB) EBEA)-B)
L ESIB R EEE(14)=(11)-(12)-(13) 1,868,745 81,213 1,787,532
e
ﬂ AR E NS EEE(15) 3,029,110 2947897 81,213
x L EA R AR E B 1 A BA(16)=(14)+(15) 4,897,855 3,029,110 1,868,745
‘ HEAREENERZEAT) 0 0 0
L) E 2R EI%a(18) 0 0 0
e ZDIDIETL S NAEEA(19) 0 0 0
B FDDIEIEIEIEE(20) 0 0 0
= Z Dth DFEL £ 7537 %5(20) 0 0 0
%8
)
il RERAR S E Bk = K8 (21)=(16)+(17)+(18)+(19)—(20) 4897855 3,029,110 1,868,745




EXEHHNES
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(#tB) IPFHt L EUGES
BEI1-9SHNERSUTAT7-TREH O I—F %

CER 275FE)

BERB LHEERTEA) AEEREB) #EBEA)-B)
REREHEBISINE 260,000 260,000 0
Y|y | B Eas 260,000 260,000 0
LU 227,000 221,000 6,000
XA ZEE R INEE 227,000 221,000 6,000
| % g 12,900 44,100 A 31,200
2 SNEINE 12,900 44,100 A 31,200
ZFDthD U 67,600 75,900 A 8,300
E Z DD UREE 67,600 75,900 A 8,300
H—E R FEHINEET() 567,500 601,000 A 33,500
R EXE 1,343,640 1,337,517 6,123
REXEE 3,336 0 3,336
HEFRERRE 178,078 172,492 5,586
& BIEERE 219,125 111,455 107,670
L3RE 177,228 248,400 A 71,172
S 241,000 130,000 111,000
g R 32,900 13,720 19,180
EERH 311,973 386,450 A 74477
BTk 180,000 275,000 A 95,000
= E2HE 71,458 117,290 A 45832
WREXEE 3,020 0 3,020
EHRHERE 11,340 13,342 A 2,002
i BIEERE 3,096 0 3,096
Bl &E# 43,002 93,948 A 50,946
ER¥E 11,000 10,000 1,000
D Bk &% B 638,000 578,000 60,000
BREER 638,000 578,000 60,000
BiEEER 2,000 2,000 0
il BREER 2,000 2,000 0
—EXFEHERTQ 2,055,098 2,034,807 20,291
H—E R EHIEREEEG)=(1)-(2) A 1,487,598 A 1,433 807 A 53,791
.|j.
| | 4R
"
A %%
g H—E R E BSR4 0 0 0
| &
i
0% FH
o F—EXEBI R ) 0 0 0
A H—E REHH BB ZEEE(6)=(4)-(5) 0 0 0
BEIEEELE(7)=(3)+(6) A 1,487,598 A 1,433,807 A 53,791
¥ | I [Y—ERXRXR o BEAEINE 0 2,277,000 A 2,277,000
a H—E AR DR A UL 0 2,277,000 A 2,277,000
|
=
13 Y RIUREE EH(8) 0 2,277,000 A 2,277,000
| &
)
A
i1l BRI ERE) 0 0 0
45l 1R A= %8(10)=(8)—(9) 0 2,277,000 A 2,277,000
sl e BERE EIE R EZE( 1)=(7)+(10) A 1,487,598 843,193 A 2,330,791
EATERBRUEER02) 0 0 0
EANRERAEEEI) 0 0 0
LHRE IR ESE(14)=(11)-(12)-(13) A 1,487,598 843,193 A 2,330,791




EXEHHNES

BER 274818 EEK
(ER 21EE)

(#tB) IPFHt L EUGES
BEI1-9SHNERSUTAT7-TREH O I—F %

28%3A31H

(BfHL - M)

BERB LHEERTEA) AEEREB) #EBEA)-B)
AR E NS EEE(5) 843,193 0 843,193
LR E N IB R ZEZE(16)=(14)+(15) A 644,405 843,193 A 1487598
HEASEEZENT) 0 0 0
HELHERZE(18) 0 0 0
ZTRMDIEI £ ENEEZE(9) 0 0 0
FDDIEILEIEIEE(20) 0 0 0
FDMDIEII S FEITEE(20) 0 0 0
REAfEHEE ENtE R E%E(21)=(16)+(17)+(18)+(19)-(20) A 644,405 843,193 A 1,487,598




EXTHIEHEE
BER 2754A18 E¥AL 285%3A31H

(#18) IRE it 2B GES (AR 274 )

SEI-NAEERUY—EREX (BHL . M)
: HERREA) AIEEREB) EMA)-(B)

v Qg 1,082,200 945,000 137,200
| F IR EE 1,082,200 945,000 137,200
e RIEEIRE 41,000 34,000 7,000
| BIESUNE 41,000 34,000 7,000
A H—E ZEBIREET() 1,123,200 979,000 144,200
&
EXE 1,125,978 1,072,047 53,931
B & REXEE 1,052,800 920,150 132,650
te RIS ARE 0 33,480 A 33,480
- HERERSE 30,694 68,169 A 37475
e BIEERE 0 10,000 A 10,000
A
0} RIEH 42484 40,248 2,236
0 Y—EXFEHERTQ 1,125,978 1,072,047 53,931
" H—E R EHEBEZEG)=1)-(2) A 2778 A 93,047 90,269
.|j.
| | 4R
"
A2
5;; H—E REHINRETE) 0 0 0
5| B
i
’f)z A
. F—E REENEFE () 0 0 0
A H—E REHIME R EEE(6)=(4)-(5) 0 0 0
1 E R EEE(7)=(3)+(6) A 2778 A 93,047 90,269
| | —ERAR S EEAZING 0 156,000 A 156,000
J H—E XX EgA U 0 156,000 A 156,000
ball
Einy
i AU 25 E1(8) 0 156,000 A 156,000
| &
[0))
H
il 4551 & B EH0) 0 0 0
45 Il 18 Rk = 2B (10)=(8)—(9) 0 156,000 A 156,000
B4 5 | i 4 21 7E B8 = 2A(11)=(7)+(10) A 2,778 62,953 A 65,731
EARERBRUEER02) 0 0 0
EATRE IR EEE(I) 0 0 0
L AR B EZE(14)=(11)-(12)-(13) A 2778 62,953 A 65,731
e
{,; Bl £ 468 025 B 428 L 22 2B (15) 541,773 478,820 62,953
=z L EAR IR ECE ENE B EER(16)=(14)+(15) 538,995 541,773 A 2778
‘ HEAREEERZE(T) 0 0 0
L)) HE 2 HREIEE(18) 0 0 0
15 Z D& % B EREE(19) 0 0 0
b5 FRMDIEILEFEITEE(20) 0 0 0
= Z D DIEI EFFITZE(20) 0 0 0
%8
)
il RERLRHSE Bt = 58(21)=(16)+(17)+(18)+(19)-(20) 538,995 541,773 A 2778
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(#HB)RFTHRELGESR
EREI-BEERBEEEIXIESER

CER 275FE)

(BfHL - M)

BERB LHEERTEA) AEEREB) #EBEA)-B)
IR (ZEE&UNEE 15,019,521 0 15,019,521
Y HRETH ZEE R INEE 15,019,521 0 15,019,521
BE:
H—E FEHINEE() 15,019,521 0 15,019,521
£ ANG&E 10,105,564 0 10,105,564
A= Fp 2 7,296,271 0 7,296,271
BEES 920,157 0 920,157
A FEHMERKS 1,010,660 0 1,010,660
EERME 878,476 0 878,476
= | B BRI 1,954,114 0 1,954,114
‘ WREXEE 15,680 0 15,680
NN 99,784 0 99,784
& HERERRE 159,518 0 159,518
BIEERE 243,728 0 243,728
FHH 31,860 0 31,860
I BB 1,259,507 0 1,259,507
HiE 29,537 0 29,537
= | @ ML AER 114,500 0 114,500
R0 1 123,980 0 123.980
EINELE 29,980 0 29,980
o HHEM R E 46,000 0 46,000
R 48,000 0 48,000
BEEER 20,000 0 20,000
& Bi8E£ER 20,000 0 20,000
H—EREHERTQ 12,203,658 0 12,203,658
H—E R EHEEEEER)=(1)-(2) 2,815,863 0 2,815,863
_'j_
| | 4R
"
ok
5;; H—E R EFINNEET@A) 0 0 0
YK
%
0) =
. F—E REENEFE () 0 0 0
A H—E REHIME R EZE(6)=(4)-(5) 0 0 0
IR E R EEE(7)=(3)+(6) 2,815,863 0 2,815,863
5 | IR
Al
Einy
i e ZIE L C) 0 0 0
BB [ FERSBRALSER 1,363,000 0 1,363,000
EERXRLERASER 1,363,000 0 1,363,000
)
A
=il 4551 & B EH0) 1,363,000 0 1,363,000
43 Il 18 Rk = 2B (10)=(8)—(9) A 1,363,000 0 A 1,363,000
Bt 5 A L HAE B IR 2 2(11)=(7)+(10) 1,452,863 0 1,452,863
EARERBRUEER02) 0 0 0
EANTRE R EEE(I) 0 0 0
LR EEIE R EEE(14)=(11)-(12)-(13) 1,452,863 0 1,452,863
%E.':
" AR B B 2 58 (15) 0 0 0
oy L EAR AR ENIE B EE(16)=(14)+(15) 1,452,863 0 1,452,863




BXTHEEEE
BERK 274481 =] EER 28538318
(1B R A E A RS (FRL 275K
SHI- A ERBEE AT RIERE (- m)
UEFRNA) MEEREB) HRMA-B)
0

- HEAREENERZE(T) 0 0
L) HE 2 HE%a(18) 0 0 0
13 ZDHDIEL S BN ER2E(19) 0 0 0
B FDNDIEIEIEIEE(20) 0 0 0
e Z D DTE £ T 1 EE(20) 0 0 0
%8

)

il RERAR S E Bk = K8 (21)=(16)+(17)+(18)+(19)—(20) 1,452,863 0 1,452,863
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(#tfR) IRF it S EitipEs
EES-1RFHELE2—F%

CER 275FE)

(BfHL - M)

BERB LHEERTEA) AEEREB) #EBEA)-B)
+ 1R ZEE U 11,070,360 10,445,887 624,473
HRETH ZEE R INEE 11,070,360 10,445,887 624,473
EHEINE 501,630 661,340 A 159,710
| i | BB 11,500 5,500 6,000
FI IR AR 490,130 655,840 A 165,710
E H—E RiEEIRIRET(1) 11,571,990 11,107,227 464,763
ANGE 982,165 973,940 8,225
A 5= Pl 16,815 15,770 1,045
EEHBERLS 950,350 944,170 6,180
I EERAE 15,000 14,000 1,000
e 9,047,703 9,264,391 A 216,688
R K E 0 30,132 A 30,132
L) KESNERE 1,525,362 1,826,505 A 301,143
HERERRE 109,101 38,379 70,722
1 EiEE 99,360 19,253 80,107
BIEERE 158,448 119,766 38,682
i ¥R E 6,490,365 6,505,412 A 15,047
PR FH 16,200 33,956 A 17,756
R 5,000 5,000 0
D EEH 115,987 171,988 A 56,001
F =R RN S 495,000 495,000 0
& EEik 32,880 19,000 13,880
" H—ERFEHERTQ) 10,029,868 10,238,331 A 208,463
H—E R FEHIEEEZG)=1)-(2) 1,542,122 868,896 673,226
.U.
| | 4R
"
A |3
g H—E R E B R (D) 0 0 0
| &
i
B =2
o F—EXEBI R AT ) 0 0 0
A H—E REHH BB EEE(6)=(4)-(5) 0 0 0
BEIEBELT)=(3)+(6) 1,542,122 868,896 673,226
4| IR
Al
iy
13 Y RIUEE EH(8) 0 0 0
BB ([ FERSERASER 2,229,000 585,000 1,644,000
o EERSBRATER 2,229,000 585,000 1,644,000
A
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